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Match #2


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Among the larger ones are the interactions with the Nazca and South American plates forming the Andes, and the Pacific Plate's collision with the Eurasian plate and the Philippine Plate, forming the Marianas Trench.  What is this type of tectonic plate interaction, where a denser plate is forced underneath a lighter one and back into the mantle?

ANSWER: subduction
2.
THIS IS A COMPUTATION QUESTION. Simplify the quantity x squared plus 10x minus 39 end quantity divided by the quantity x minus 3 end quantity. 

ANSWER:
x plus 13
3.
The top part of this painting is dominated by fiery reds and oranges, as the 1883 eruption of Krakatoa caused red sunsets even in northern Europe.  Two figures in the far left walk across a bridge, while the foreground figure looks like Macaulay Culkin from “Home Alone”.  Identify this painting by Edvard Munch (MOONK) recently recovered from thieves.

ANSWER:  The Scream (or The ​Cry)

4.
The play Rhesus is no longer attributed to him; eighteen plays by him have survived 2,500 years. His plays Sisyphus, Phaeton (FAY-tawn) and Andromeda exist only in fragmented form. What ancient Greek playwright is known for his plays The Trojan Women and Medea (meh-DEE-uh), and was a contemporary of Sophocles (saw-FAW-kleez) and Aeschylus (EH-skuh-lus)? 

ANSWER: Euripides (YOO-rih-pih-deez)
5.
In 1655, the Dutch drove the Swedish out of this colony’s southwestern corner. Under British rule, it was split into “East” and “West” between 1674 and 1702. Charles II named it for the Channel island that had remained loyal to the Stuart Dynasty. During the Revolution, what colony was the site of the Battles of Monmouth and Princeton? 

ANSWER: New Jersey
6.
He advocated that disease, instead of being a punishment from Zeus, was caused by an imbalance in the four bodily humors. Works that are erroneously attributed to him include Of the Epidemics, On Hemorrhoids and On Ancient Medicine. Who is associated with an oath taken, before beginning practice, by doctors? 

ANSWER: Hippocrates (hih-PAW-crah-teez)

7.
Hugo was the first to fall victim to the title character, who also killed his descendant Charles. By the end of the novel, Mr. and Mrs. Barrymore are exonerated and we discover the neighbor, Mr. Jack Stapleton, was behind Charles’ killing. In what Sherlock Holmes mystery are members of a noble family killed by a mysterious dog?

ANSWER: Hound of the Baskervilles
8.
While its 7,800 miles of coastline is nothing compared to Alaska, this state’s total area of a million square miles easily surpasses Alaska’s 660,000. Its vast desert areas in the east isolate it from the other five states. What Australian state has 75% of its population around the capital, Perth? 

ANSWER:  Western Australia
9.
Franz Schubert wrote a quintet about what type of freshwater fish in the salmon family which has Adriatic, Sevan, Apache, Cutthroat, Aurora, Golden, Brook, and Rainbow types? 

ANSWER:
trout
10.
At the end of this work, a messenger from the Queen brings a letter of pardon, freeing the main character from execution and making him a baronet.  Jonathan Peachum was no doubt upset, as he wanted to kill the knife-wielding Macheath for marrying his daughter, Polly.  This describes what 1928 opera with libretto by Bertolt Brecht (BREKT) and music by Kurt Weill (VILE) that featured the song “Mac the Knife”? 

ANSWER:  The Threepenny Opera (accept The Beggar’s Opera before “1928”)
11.
The narrator of this story seeks revenge against a friend who has ‘constantly insulted’ him. When the friend is drunk, the narrator convinces his friend to go into the basement to try out a new barrel of Spanish wine – which doesn’t exist. In what Edgar Allan Poe short story does Montresor (mawn-TRAY-sor) then bury Fortunato alive?

ANSWER: “The Cask of Amontillado”
12.
Though it received an eight minute standing ovation at Cannes (KAWN), film critic Joel Siegel still walked out on the movie during a New York City screening.  It featured a 5-minute soliloquy comparing the Star Wars and Lord of the Rings sagas.  What is this movie, Kevin Smith's sequel to the original story of Randal Graves and Dante Hicks?

ANSWER:  Clerks 2
13.
Developed by DuPont scientist Stephanie Kwolek in 1966, it is a processed Polyparaphenylene (paw-lee-pai-ruh-feh-nuh-LEEN) Terephthalamide (teh-ref-THAWL-uh-MIDE) that is said to be five times stronger than steel.  Name this material used in aircraft construction and bulletproof vests.

ANSWER:
Kevlar
14.
Its most likely origin comes from the Greek to Hebrew transliteration – and then adding up the letters that do double-duty as Hebrew numbers – of the name “Nero Caesar.” US Highways 191 and 491 were once one highway with what number, the number that appears in Revelations 13:18 as the Number of the Beast? 

ANSWER: 666 (prompt on “Number of the Beast”)

15.
It is named for the founder of Detroit and ironically was founded in 1902 by Henry Ford’s former business partners. Merged into GM in 1909, it even remained profitable during the Depression. What GM subsidiary produced the DeVille and Brougham, and has made a comeback in the past five years with the Escalade? 

ANSWER: Cadillac Motor Company

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
Which beautiful Norse goddess of love and fertility lives in the palace of Folkvang and owns the Brisingamen (brih-sing-GAH-men) necklace?

ANSWER:  Freya (do not accept “Frigga,” that was Odin’s wife.)
1B.
How many down quarks are in a neutron?

ANSWER:
2
2A.
Give the IEEE standard number used for wireless networks.

ANSWER: 802.11 (eight oh two dot eleven)  

2B.
Most Saudi Arabians are members of what fundamentalist sect of Sunni Islam?

ANSWER: Wahhabi (wah-HAH-bee) or Wahhabist or Wahhabism 

3A.
Joel Cairo, Casper Gutman, Brigid O’Shaughnessy and Sam Spade are characters in what Dashiell Hammett novel made into a 1941 Humphrey Bogart film?

ANSWER: The Maltese Falcon
3B.
THIS IS A COMPUTATION QUESTION. What is the midpoint between (-92, 37) (read as: negative ninety-two, comma, thirty-seven) and (184, -99) (read as: one eighty four, comma, negative ninety-nine)?

ANSWER:
(46, -31) (read as: forty-six, comma, negative thirty-one)
4A.
THIS IS A COMPUTATION QUESTION. What is the cube root of 27 plus the positive square root of 289?

ANSWER:
20
4B.
What castle-fortress in Granada, Spain, means “Red Castle” in the Arabic language? 

ANSWER: Alhambra
5A.
Who was President between 1837 and 1841?
ANSWER: Martin van Buren
5B.
John Alden, Priscilla Mullins and the title character interact in what Longfellow poem set in colonial Massachusetts? 

ANSWER: The Courtship of Miles Standish
6A.
What two French words meaning “to let do” are used to describe a policy of minimal government interference with the economy?

ANSWER: laissez-faire (lay-SAY fair)

6B.
What Mexican Revolution leader created the Plan de Ayala (ah-YAH-lah) and fought against the government in the southern part of Mexico before being killed in an 1919 ambush? 

ANSWER: Emiliano Zapata
7A.
What numerical sequence starts out 1, 1, 2, 3, 5, 8, 13, 21, 34, and so on?

ANSWER:
Fibonacci sequence

7B.
THIS IS A COMPUTATION QUESTION. If A equals 1 through Z equals 26, what is the numerical value of D plus J plus X?

ANSWER:
38
8A.
Most humans have how many pairs of ribs?

ANSWER:
12
8B.
What form of Japanese poetry contains three lines in a 5-7-5 syllable pattern? 

ANSWER: haiku
9A.
What city in ancient Egypt was famous for its Lighthouse and Great Library? 

ANSWER: Alexandria
9B.
THIS IS A COMPUTATION QUESTION. What is the mass, in grams, of one mole of carbon dioxide?

ANSWER:
44 grams

10A.
Which 2004 Green Day album included the songs “Boulevard of Broken Dreams”, “Holiday”, and “Wake Me Up When September Ends”?

ANSWER:    American Idiot
10B.
475 Fifth Avenue in Manhattan is the address for a store that sells clothes from what designer label founded in 1998 by “Diddy” Combs?

ANSWER:  Sean John
Third period, 15 toss-ups, 10 points each

1.
This country’s parliament, the Sejm (same), had an unusual feature – any member could nullify a proposed bill. After a disastrous war with Russia between 1768 and 1772, its fate was sealed. In 1772, 1793 and 1795, what country was partitioned off the map by its neighbors Russia, Prussia and Austria? 

ANSWER: Poland or Poland-Lithuania or Polish-Lithuanian Commonwealth

2.
In Germany, a word spelled the same refers to a university prep high school. The American usage is closer to its Greek origin, a word meaning, “to exercise naked.” However, clothes are usually worn in what part of a high school where physical education classes and indoor athletic events are held? 

ANSWER: gymnasium
3.
Ascites (ah-sih-TEEZ) is its most common complication and its main causes are hepatitis C and alcoholism.  Name this disease characterized by scarring of the liver.

ANSWER:
cirrhosis
4.
This girl’s name comes from a Greek word meaning “dark-skinned,” which makes sense if you remember the name of the pigment that gives skin its dark color. Ashley Wilkes’ wife in Gone With the Wind and two of the five Spice Girls all share what name? 

ANSWER: Melanie (prompt on diminutives such as Mel, Mellie, etc.)

5.
In January, Ellen Johnson-Sirleaf was sworn in as the first female head of state in Africa after she was elected to the presidency of what West African nation, originally founded by freed slaves and having its capital at Monrovia?

ANSWER: Liberia
6.
 What is the past participle of the verb “fly”?

ANSWER: (had) flown
7.
It was created in the aftermath of the Penn Central Railroad’s 1970 bankruptcy. Opponents cite the billions given in subsidies while supporters compare the subsidies given to airlines and highways. The National Railroad Passenger Corporation is the official name of what passenger rail service?

ANSWER: Amtrak (accept National Railroad Passenger Corporation or NRPC on an early buzz)

8.
This conservation status contains the Venus fly-trap and the blue whale. It is between, on the safer side, “least concern” and “vulnerable,” and, on the less safe side, “critical” and “extinct in the wild.” In 1973, the US passed a law designed to protect species who are in what status where they are at risk for becoming extinct?
ANSWER: endangered species

9.
The ad subjiciendum (sub-jee-SEE-en-dum) type of this writ is the most popular type. The cases of Ex parte Milligan and Hamdan v. Rumsfeld are landmark rulings concerning it. Abraham Lincoln and George W. Bush have both, in some cases, suspended this right of a judge to determine if a prisoner is being held lawfully. What right’s name means “you have the body” in Latin? 
ANSWER: habeas corpus
10.
Woody Hayes led this school’s football team from 1951 to 1978, while during the John Cooper years, they almost always lost to Michigan.  Under Jim Tressel and led by freshman Maurice Clarett, the school captured the national championship in 2002.  What school, ranked #1 in the 2006 preseason college football polls, is located in Columbus and is nicknamed the “Buckeyes”?

ANSWER:   THE Ohio State University

11.
Like Switzerland, this European kingdom has maintained neutrality since 1814. During the 17th and 18th centuries, it rose to prominence under Gustavus Adolphus and Charles XII. After losing the Great Northern War, what country steadily declined as a world power, losing territory that today belongs to its neighbors Norway and Finland? 

ANSWER: Sweden
12.
THIS IS A COMPUTATION QUESTION. What is 3 factorial times 2 factorial?

ANSWER:
12
13.
By the end of the novel, the wealthy Hwang family has suffered a decline in fortune and the main character’s three sons plot to sell the land that has made their family wealthy. Characters such as Pear Blossom, Poor Fool, O-Lan and Wang Lung appear in what novel by Pearl Buck?

ANSWER: The Good Earth
14.
Western Union announced in February that it was discontinuing this messaging service that it first began in the 1860s. The elimination of what service, which sometimes comes in a “singing” variety, ended the need to use, every three words, the word “STOP”?

ANSWER: telegrams 
15.
Several of them belong to the genus Naja. They include the Egyptian, Indian and spitting varieties, but the “king” variety is technically not one of them. Name this large, hooded, venomous snake.

ANSWER:
cobra

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
His parents died in a mountain climbing accident in Chamonix (sham-oh-NEE) when he was eleven.  His family’s motto was “Orbis non sufficit”, which translates to “the world is not enough.”  George Lazenby, Timothy Dalton, Roger Moore, and Pierce Brosnan have all imitated Sean Connery in playing on-screen which British spy, who is also known as Agent 007 (double-oh-seven)?

ANSWER:  James Bond
2.
These loans are considered conforming if they are below $417,000; after that they are considered jumbo since they do not conform to Freddie Mac and Fannie Mae standards. Fifteen-year, thirty-year and adjustable rate are among the types of what loans usually made to people buying a house? 

ANSWER: mortgages
3.
His Intended believes that his last word was his name. He wrote a pamphlet on civilizing the natives, ending it with “Exterminate all the brutes!” His last words while dying of “jungle fever” were, “The horror! The horror!” What brutally efficient ivory trader does Marlow meet in Heart of Darkness?

ANSWER: Mr. Georges-Antoine Kurtz (Heart of Darkness)

4.
What trig ratio is equal to adjacent side over hypotenuse?

ANSWER:
cosine
5.
Its creation earned its inventor the 1939 Nobel Prize in Physics.  Name this early type of particle accelerator invented by Ernest Lawrence that creates a spiral path for the particles.

ANSWER:
cyclotron
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